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QUESTION 1

SAP ERP offers additional capabilities compared with SAP R/3 Enterprise, making SAP ERP the state - of-the-art ERP
solution.Which of the following SAP ERP capabilities was also available on earlier releases like SAP R/3 Enterprise?

A. New General Ledger in Financials
B. SAP Web Application Server

C. E-Recruiting

D. SAP NetWeaver

Correct Answer: B

QUESTION 2

The Operative Indicator, Account Assignment Element is used when you wantto plan costs for WBS elements.
(True/False)

A. True
B. False

Correct Answer: B

QUESTION 3

Document Info Records allow documents to be linked to which of the followingobjects? (Choose all that apply)
A. BOM\\'s

B. Material Master

C. Production Orders

D. PRT\'s

E. QM Info records

Correct Answer: ABCDE

QUESTION 4
Time periods in the standard planning table could be (Choose all that apply)

A. Minutes
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B. Days

C. Weeks
D. Accounting periods
E. Sales periods

Correct Answer: BCDE

QUESTION 5

A depreciation run can be run in which manner? (Choose all that apply)
A.In FI AP

B. In direct mode

C. In indirect mode

D. In batch mode

Correct Answer: BD

C-TERP10-60 PDF Dumps C-TERP10-60 Study Guide @ C-TERP10-60 Braindumps

C-TERP10-60 PDF Dumps | C-TERP10-60 Study Guide | C-TERP10-60 Braindumps 3/3


https://www.geekcert.com/c-terp10-60.html
https://www.geekcert.com/c-terp10-60.html
https://www.geekcert.com/c-terp10-60.html
http://www.tcpdf.org
https://www.geekcert.com/c-terp10-60.html
https://www.geekcert.com/c-terp10-60.html
https://www.geekcert.com/c-terp10-60.html

